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A & 0l & A & F Al
fAM: ANAREE W
AL JEs 259 XNMHIAMEA WS
S SEE WESAIX I DAL AE cet )
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ANEEE 0 3,851,305 1,061,037 2,790,268
= 13,448
< 35,000
Al 3,802,857
Al e 232 ANEHIMHA MBS 3,807,917 997,134 2,810,783
= 13,448
< 35,000
Al 3,759,469
SEE HE S AIXIJE T A AHE 195,510 72,437 123,073
HESAIRIL g2 =& 177,987 62,393 115,594
201 Let24d] 177,987 62,393 115,594
01 At 22/l 177,987 62,393 115,594
OMEBAKIIN HS =5 175,487
QA& I}
100,0002 XI1/43. 72 Xl = 40,0002 = 110% 100,687
oAM=
1, 7002 XI * 40,000& = 50% » 30% * 110% 11,220
Ooleal s
7002 Xl = 40,000& =* 50% * 70% * 110% 10,780
OEXO=s2
8,0002 XI = 40,000& * 50% * 30% * 110% 52,800
OFSLEIIRAS SAMZT HE 2,500
O=2AMF M 10,000& = 508 = 53| 2,500
HESAKII QY QIASHAAE A2 QOO0IE 17,523 10,044 7,479
201 Let24d] 17,523 10,044 7,479
02 =24l 17,523 10,044 7,479
OCIAIGSHAAE A= FOOIE 17,523
OXJt & SHXE ol E(2e, 22Xt
446,000Z XI = 12& = 23| = 110% 11,775
O&EHI=E 2 HOHOIE(ZEXNI 0Is2)
52,000Z XI = 90& = 110% 5,148
OSHET(EEXN, &2, A2 S) HUOE
600,000& * 14 600
Heegag 2, 2 188,889 307,770 A 118,881
HegRgdas d2FA 188,889 307,770 A 118,881
101 @124l 18,009 48,123 A 30,114
04 JIZHHZ2Z2XNESE S 18,009 48,123 A 30,114
oONg=REas ExgRY 16,283
OgFY 45,2303 * 2% = 180¢ 16,283
OEd JI&aRE3 1,726
OHLEE 16,283,000& * 2.995% 488
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OFIeLEH 488,000& * 6.55% 32
O=gd¢3 16,238,000& * 4.5% 731
ons=dg 16,238,000& * 1.5% 244
OMTHES 16,238,000& = 1.42% 231
201 Zet24] 168,000 256,947 A 88,947
01 At 22l 168,000 256,947 A 88,947
ONLRES =2 160,000
Ol 8 HE5+=+2 800,000& = 150 120,000
OZSAEXI EEI =8
1,000,000& * 40A 40,000
ONLRES DIERERN LRE=SSA=2 8,000
(OF=3=1=RPNi=,
200,000,000& * 0.2% * 0.4 * 504 8,000
202 o4dl 2,880 2,700 180
01 = LH o4 1l 2,880 2,700 180
OEXNSHEE AN EXA 0] 2,880
O™ X = A HI 20,000& = 3H = 48 2,880
e 75 U 28 993,633 307,765 685,868
HEEANAE SE 2= 640,000 0 640,000
405 XHoHF S HI 640,000 0 640,000
01 At ESFH S 640,000 0 640,000
OSUZFEANLH 8 2F(HH 2)
640,000,000& * 14 640,000
2HE ALIH L ALY RXEL 353,633 307,765 45,868
101 @124l 16,295 6,877 9,418
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49,1003 * 2% = 150¢ 14,730
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OHEEE 14,730,000& * 2.995% 442
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os8s/W 1,086,000& = 12& 13,032
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S8S/W 1,004,000& = 12& 12,048
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OH/W 801,000& ~ 123 9,612
OAaZs/W 1,353,000& * 128 16,236
O2=2el TANEBAAE SXE4H| 5,400
osss/W 450,000 « 12& 5,400
S AIEEZ S HALAE SRXE I 6,744
OH/W 217,000& = 12& 2,604
SELTEYN 345,000 » 12& 4,140
O3NS UHHEAAE X2 4| 40,344
OH/W 731,000& » 12& 8,772
osg s/W 1,643,000& » 12& 19,716
Ooa=g s/ 988,000& = 12& 11,856
OZBUIEZHAAH FXEH| 1,188
osg s/w 99,000& « 12& 1,188
OZTEaE2ACANAE RXE 2| 4,974
OH/W 52,000& = 12& 624
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2Z22t8e 2| 1,950,000 0 1,950,000
=X XNEE HA 1,950,000 0 1,950,000
403 XX SHHS K20 & 1,950,000 0 1,950,000
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©1/1,000 =X XL M&E2L2
1,950,000,000& = 14! 1,950,000
A&zl L THEA 162,328 30,541 131,787
2 8,448
Al 153,880
XN&EO s8H 22| 153,880 13,621 140,259
201 et d| 150,000 13,621 136,379
01 AFR 2t 2| bl 150,000 13,621 136,379
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150,000,000 * 14l 150,000
202 044l 2,880 0 2,880
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& Bl 20,000 * 2% «x 72 2,880
203 €2 F=&d| 1,000 0 1,000
03 Al ZH =X 2= XIH| 1,000 0 1,000
OXNEAHEE AR A|BMFX 1,000,000& 1,000
NE 22 AL F & 8,448 0 8,448
= 8,448
101 @121 H| 8,448 0 8,448
= 8.448
04 JI12ZtHIZ22NEES 8,448 0 8,448
OXEHZZIANYEZ=E JI2ZtHZ22 X AtS 8,448
[@Or g=sn 2,379,000& = 1@l 2,379
= 2,379
ON&3F 1,717,000 * 1@l 1,717
= 1,717
osg+3 2,382,000& = 19l 2,382
= 2,382
OFAR 1,970,000 * 1@l 1,970
= 1,970
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04 DIt Z22XsSE+ 15,011 6,877 8,134
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O=8dg= 13,569,000 * 4.5% 611
ONE=--4= 13,569,000 * 1.5% 204
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OdSHsE MH 423 5,700
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2,000& = 10094 200
OEXHO0IZ 200,000& * 2H 400
OZ22H A28 4,300
OEX 50,000& » 202 1,000
Odl & 330,000& = 3AIE 990
og3a 770,0008 * 3AMIE 2,310
OE2ATA B2 2435 12,000
S=Zel AEI3 ME 3,008 « 3,000 9,000
OS2YZL E22E M
1,000& = 3,00094 3,000
O A2 ANMFE M 2,500
O3 9N F M= 10,0008 * 502 * 53| 2,500
OE2H=4 QHHXNZE XA 120,000
(ORSPN3=| 40,0002 = 2,000 80,000
O8XE 1,000& = 40,0005 40,000
02 S2=24Hl 2,950 7,950 A5,000
OTZHANE (=23 8) &oithey Mt
2,950,000& 2,950
202 o4l 3,600 2,700 900
01 =L 3,600 2,700 900
OAsHSH X & HAHF2 IIEXZ A0
20,000& = 3% * 60€ 3,600
401 A EHI L 2O 20,000 50,000 £30,000
01 A& dl 20,000 50,000 A30,000
OXs T2Y8 T A 20,000,000& * 14 20,000
403 TtXI M S A=01A 23,496 28,881 A5,385
02 SN 2SO He CH At I 23,496 28,881 A5,385
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O=3INF2TVEANAEY SXNE+ L 2| 9,996
OGISH & X &= 2,271,000& * 14 2,271
OKAIS 2gX1& 7,725,000& * 14l 7,725
Oxz2g=4A J2k ddst
13,500,000 = 14l 13,500
S2HF=A QHUHAIZEE El 68,000 46,450 21,550
206 M= Hl 28,000 29,450 A 1,450
01 MHZ 4l 28,000 29,450 A 1,450
od=¥sz& HME MZH  7,0008 * 4,00004 28,000
401 AIEHIZ 28I 40,000 17,000 23,000
01 A& HI 40,000 17,000 23,000
oOE=zgE &X 300,000& = 1007H A 30,000
O RANES 200,000& * 50H A& 10,000
TR Y ASHS EE(=21) 5,000 0 5,000
= 5,000
401 Al BIZ 201 8I 5,000 0 5,000
= 5,000
01 A& HI 5,000 0 5,000
OEZ2IANEES XA 5,000,000& 5,000
= 5,000
SE2YAE XM (=) 35,000 0 35,000
< 35,000
401 Al I 2 08I 35,000 0 35,000
< 35,000
01 A& HI 35,000 0 35,000
OE2YAE AXAY 35,000,000& * 14 35,000
< 35,000
HH2ISZH(NHZE D) 43,388 63,903 220,515
Jl234l 43,388 63,903 AN 20,515
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201 £B-2dH| 19,408 26,589 AT,181
01 At 22l 19,408 26,589 ANT,181
OJlege=adZl 8,344,000 8,344
O= &l 8,064,000 8,064
OZctZgd & 2AI |X 3,000,000& 3,000
202 o4dl 17,280 33,534 N 16,254
01 = LH o4 1l 17,280 33,534 AN 16,254
O=2UdAHl JI=23bl 17,280,000 17,280
203 YR =] 4,200 3,780 420
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